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<Stmt> = <AsgnStmt> | <IfStmt>
| <WhileStmt> | <ForStmt>
| <CallStmt> | <RtrnStmt>
| <CompStmt>
<AsgnStmt> ::= <Var> = <Expr>
<IfStmt> ::= 1f ( <Cond> ) then <Stmt>
| 1f ( <Cond> ) then <Stmt>
else <Stmt>
<WhileStmt> ::= while ( <Cond> ) <Stmt>
<ForStmt> ::= for ( <Var> = <Expr> to <Expr> )
<Stmt>
<CallStmt> ::= call <ProcName> ( <ParamList> )
<RtrnStmt> = return ( <Expr> )
<CompStmt> = begin <StmtList> end

<StmtList> ::= <StmtList> ; <Stmt> | <Stmt>
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<Cond> ::= <Cond> & <Rel> | <Cond> ‘|’ <Rel>
| ! <Rel> | <Rel>

<Rel> := <Expr> < <Expr> | <Expr> <= <Expr>
| <Expr> > <Expr> | <Expr> >= <Expr>
| <Expr> = <Expr> | <Expr> != <Expr>

<Expr> = <Expr> + <Term> | <Expr> - <Term>
| <Term>

<Term> = <Term> * <Fact> | <Term> / <Fact>
| <Fact>

<Fact> = <Var> | <Number> | <FuncCall>
| - <Fact> | ( <Expr> )

<FuncCall> ::= <FuncName> ( <ParamList> )

<ParamList> = <ExprList> |

<ExprList> ::= <ExprList> , <Expr> | <Expr>
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<Program> = program <Name> ;

<SubPgmList>

main <VarDecl> <CompStmt>
<VarDecl> = var <DclList> ; |
<DclList> = <DclList> ; <Decl> | <Decl>
<Decl> = <VarList> : <Type>
<VarList> = <VarList> , <Var> | <Var>
<Type> = int | long
<Var> : := <Name>
<SubPgmList> ::= <SubPgmList> <SubPgm> |
<SubPgm> : := <ProcDecl> | <FuncDecl>
<ProcDecl> : := proc <ProcName> ( <FormParam> )

<VarDecl> <CompStmt>

<FuncDecl> = func <FuncName> ( <FormParam> )

returns ( <Type> )
<VarDecl> <CompStmt>
<Dcllist> |

<FormParam>
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¥ <IfStmt>= 23
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program p
main
begin

a=1
end .
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d begin begin begin a=1 end end end
4 (((((a+1)))))
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program Sample

proc Fact (n : long)
var m : 1nteger;
begin
m=n - 1;
call Fact (m);
end;
maln
var a, b : 1nteger;
begin
a = 0;

call Fact (a);
end
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EX M0 ¢0e =8

RCP = robot at POS in the board { BRD }
the control sequence is CTSQ
BRD = size = NUM x NUM ;
blocks = BLK ;
destination = POS
BLK = POS , BLK
| POS
POS = ( NUM , NUM )
CTSQ = CNTL CTSQ
| CNTL
CNTL ::= go-ahead NUM
| go-back NUM
| turn-left
I

turn-right
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